Test Booklet No.

dnec gade &.

This booklet contains 48 pages.

fon gade &g 48 US I51

Test Booklet

PAPER - 2

Test Booklet/ 20T g'aﬁ'a

Series

2ne gade 0iea

Do not open this Test Booklet until you are asked to do so.
AT 39 39 faor &t wer, €< Ja fan e due gaBde § & 4|
Read the instructions on the back cover of this booklet carefully.

fon gade @ fusd awg €3 S ardh gerfest § fimis &5 U3

BC

Allowed Time: 120 Minutes Maximum Marks: 100
Y3 0H*: 120 fife <g 3 Jg Wi : 100
1. The OMR Answer Sheet is inside this Test Booklet. Once | 1. Emhmrg §33-1e for 2re Sad<e @ nieg 3| gefes I 3, 2R
directed, You have to open the top seal of Test Booklet, take Jade & QuIE His Eréj g59-Fic &2 w3 fige I8 I
out the Answer Sheet and fill in the particulars carefully with . .
black ball point pen only. ynrfe 0o &7 29fe ] e 57 331
2. Duration of test is of 120 minutes and question paper consists | 2. fox Yifimr = 120 fife Iz yms U39 &8 100 ngrafes
1 jecti ions. i ies 1 k 8 o "
of 100 objective type quesf:ons Each 'questlon'carrles marl e 9 T51 939 Y = A €59 1 =3 fn fead
for correct answer. There is no neqgative marking. g .{ e
3. Use Black Ball Point P nl Cok)
. Use Black Ball Point Pen only. =
. dg T8 g5 ynwrfie T's &t <93 33|
4. Make sure that the Test Booklet Series Code entered by you | 4 =it 596 iy 539 He €3 393 owgr g9 a3 famr 27
on the Answer Sheet is same as mentioned in Test Booklet. . - s
_ o Hade Aide ag 83t 3 7 SAe gade §3 eanenr famr )
5. Rough work should be done only in the space provided in the 5. by f S Sede e R my T o e e v
Test Booklet. 3
|
6. The answers are to be marked on the OMR. Answer Sheet 6. 39 fAge Ghirg 39 He 3 foos 3 e Tal W
only. Mark your responses carefully. No whitener/ eraser / 3 i -
blade is allowed for changing answers. g39 fimrs &% fie3 a3 €39 =Sw8r =& fam &
, ;
7. After opening the Test Booklet, you need to ensure that there W i / aow L mﬂ 9]
is no presence of any misprint in question paper, torn pages or 7. 2T g8 QP«E 3 =, faour 591 393 fog weldt =T &
blank pages in the Test Booklet. In case, such discrepancy is i U39 feg a8t & 353 surd, 22 I8 US 7wt U & J=
found in test booklet, you need to bring it to the notice of the 99, 2Ae gade o ol & 397 & A8 wHIS I3 R &
Islvrligiator and get it replaced by another Test booklet of same ﬁ ?;Sﬁ aw3 f 5@ e B e e e
8. For any question, if there is any discrepancy found between
Punjabi & English version of question then English version of | 8. o 2 Yy fes, Fag At A wieew g7 ff9 ad wizg I 3t
the question shall be considered as final. OF i 2 WA gu3a & wiaH Hfenr wraT|
9. Details of Sections in Question Paper: L .
i 9. YyHs U39 ffg g3 T I
Section | Subjects Guestions Igr | feR yrat 2 farsst
Section-1 |General Awareness 35 FE -1 | FOI8 WRWISH (WH GIEISEEY) 35
Section-2 | Quantitative Aptitude and Numerical Skills 20 Fq-2 | HE3I3HE GET3T W3 HSHE god 20
Sect?on-3 Mental Ability and Logifal Reafsomng 20 — e o w— 20
Section-4 | Language Skills (Punjabi/ English) 20 5 3
Section-5 | Digital Literacy and Awareness 05 gar-4 |IHE 2 gaI (UrEl/ wiardw) 20
gr-5 | f3HICs ATST w3 ANgE3T 05
Name of the candidate (In Capitals)
Eileeg T &H (Iraash i£9)
Roll Number / 3% &89 In figures(widfani f&g)
Name of Test Center / QU< 0'2d T &H In words(HEE f39)
signature of the Candidate within box / STeH @ wieg @Hfeerg @ gRS™ | Signature of the Invigilator within box/ SR € Wed 53186 € IA3HT

< ﬁaam@wﬂ»rw&s'ﬁaééammwé?wﬁﬁmwmwéﬁm




Ql  Which

established the ‘right to education’ as

SECTION - 1

constitutional

a fundamental right?

(A)
(B)
©)
(D)

Q2  Which of the following is an example (2

61% constitutional amendment
73" constitutional amendment
86" constitutional amendment

91% constitutional amendment

of a 1% order lever?

@)

(B)

(©)

D)
Q3 AlZila

(A)
. (B)
©)

(D)

See-saw

Nutcracker

Door

Sugar tongs

Parishad comprises:

all the Pradhan of a Panchayat

Samiti

one-third of the Pradhan of a

Panchayat Samiti

two-thirds of the Pradhan of a

Panchayat Samiti

three-fourths of the Pradhan of

a Panchayat Samiti

amendment Q]

STl - 1

faoat Afeogsa Ag & fAfemr @

witare § fia gfenwret wiigarg =

HEUS d1377

(A) 61% Afeogsa Ry

() 737 Afeusa Ag

() 86" Afeuaa AU

(D) 917 Afegsa Ry

Jo fefawt &9 fagdt ufost w3t @

dieg €t @eggs 7

(A)  AL-AMI(EE)

(8) &9

() =TI

(D) HIE A

frgr ufone feo

HHS g I51-

(A) ofez St @ A yos

() Ugfes AWt € Yo' T fEa-
fsordt famr

() Jufes Anst @ yast € °-

(D)

f3adt fomr
Ugrfes AWt @ yoe' ©
f3a-gamt fgnr

#
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Q4v

Which is the longest river that flows Q4

through Punjab?
(A)  Sutlej
. (B) Ravi
(C) Beas
(D)  Chenab

A3 3 341 &7t fagdt d, 7 Uay &5
BYTt 37

(A) HA3GHA
(B) It
(c) feawmA
(D) T&=

Q5 * According to 2011 census, what is the Q5 A 2011 € HITHEHS © WSH'S,

Urban Population percent of Punjab? Uae & afadt wearel YSias fdat
37

(A)  24.10%
(A)  24.10%

(B) 27.65%

*- (B)  27.65%

(C)  31.24%
(C)  31.24%

(D)  37.49%
(D)  37.49%

Q6 * Which of the following articles of the Q6 393 @ Afeus € fegs' wigae T
Constitution of India discusses the fagz Afeas <o Ag < fedt 53
procedure for the amendment of the gJur aaT 37
Constitution?

(A) WEeT 368
© (A)  Article 368
(B) W&sT 370
(B) Article 370
(C)  Article 360 (C)  WFST 360
(D)  Article 310 (D) WgET 310
QP2-BC/31584 (Page2)



Q7 . Particle of light is called: Q7 yYFHe T § At afde Ia?

(A) Photon A) T
(B)  Electron | fdads
- (C) Neutron ) fs835
(D) Proton D0 Y&
Q8  What is the capital of Punjab after the Q8 1966 3 =™ UA" & IATS!
© year 19667 faadt 32
(A) Chandigarh (A) TINF
(B) Patiala - (B) ufewrsr
" (C) Amritsar (©) "«’iﬁ-l?ﬂa’
(D) Ludhiana (D) BfweE
Q9  Who initiated Triveni, whicl.1 is a Q9 f3Rdt & mgw3 fans it Gl
" form of Hindi/Urdu poetry? fdSgae afesr e gu 7
(A) Gulzar (A) ISBAI
(B)  Amrita Pritam ' () wiE yi3u
‘ (C) Rajinder Singh Bedi () gfieg fity S5t
(D) Nanak Singh (D) &&F iy
QP2-BC/31584 (Page 3)



Q10. Which Gurudwara is popular by the Q10 fIgg™ JTET ASIS Hied © &H

name of Golden Temple? &8 HAJd &
(A) Baba Atal Sahib (A) =HE WIH Afa"
(B) Harmandir Sahib (B) Ifpifegd afog
"~ (C)  Takht Sri Damdama Sahib (C) 3H3 Il eHeH Arfad
(D)  Sri Akal Takht (D) I wE® 33 Afad

Q11 What are the animals of animal Q11 Y& w3 &9 fag? Y=t dig &t I3t

kingdom that possess backbone? T HBH I&?
(A) Protozoa (A) U3 (Protozoa)
(B) Bryozoans , (B)  FfErMIGH (Bryozoans)
~ (C)  Vertebrates (C) <TISIIITH (Vertebrates)
(D)  Arthropoda (D)  WIEIUS (Arthropoda)
Q12 is celebrated in martyrdom Q12 _ it g difde fiw @ e @ 82
. of two younger sons of Guru Gobind Afasarfest, Arfoaarer dareg fiy
Singh Ji, Sahibzada Zorawar Singh w3 g3fo iy & At & e <o
and Fateh Singh. Hefem AieT I
(A) Rakshabandhan . (A) IJIEETS
. (B) Baisakhi (B) femmt
(C)  Guruparab (C) dJ=[UIH

(D) Jor Mela (D) HIAT

QP2-BC/31584 (Page 4)



Q13  Who among the following leaders is Q13 J& &3 wramwt f&F fam § dAw

Q14

Q15

also known as “Punjab Kesari”?
(A) Vipin Chander Pal

(B) Lala Lajpat Rai

(C) Bal Gangadhar Tilak

(D) Rabindra Nath Tagore

A = & Ffewr Fer &7
(A) feus dgegus

(B) WV JTHAYI IV

(C) =& 3Jerug 38w

(D) Ifdeg &g N9

Who is the first Sikh guru and the one Q14 fiy & ufgsr 3@ A= I s Ay

who founded the Sikh faith?

(A)  Shri Guru Nanak Dev Ji

(B)  Shri Guru Ram Das Ji

+ (C)  Shri Guru Har Gobind Sahib

(D)  Shri Guru Har Krishan Sahib

U9H & AETUST 13517

(A) Tt I e B Tl

(B) TIAIIHEHTAL

©) T Ig godifde wrfos w

(D) Tt Ig IS fEs wrfow

Which rock is formed by the slow Q15 faodt ge's AT © J&° (gurét 3)

+ cooling of molten magma beneath

(deep) the surface?

(A) Sedimentary rock

(B) Igneous rock

(C) Metamorphic rock

(D) Dynamo Metamorphic rock

iy AT @ J8t-Jet 32 JT I96
et I?

(A) 3B TS
(B) WAISIHE3 ¥T6
() gu3fgzgcs

(D) IfEan Hewidfea g

QP2-BC/31584
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Q16

Q17

QI8

=)

- (A)

- (©

2020

Hornbill ~ Festival,

was Q16

. celebrated in which state of India?

(A) Uttar Pradesh
(B) Maharashtra
Nagaland
(D) Kerala
North east of Punjab consist of Q17
Shivalik mountains
(B) Himadri mountains
(C) Himachal mountains
(D) Karakoram range
For which of the following Q18
applications, ISRO has launched
CMS-01 satellite in December 20207
L. Traffic Management
II. Communication
(A) Onlyl
(B) Onlyll
Both I and II
(D) Neither I nor I1

- (©)

2020 © JI&EHS €@3AT (Hornbill
Festival)) 393 © fam Iw feo
HoEnT famir Al?

(A €3I A
(B) HIIHIT
IC |- F
(D) dIB
yrgegsgygafeig |
A) faesfsauaz Is
(8) fonedtuag s
c) foHos YT Is
(D) SIAIH UIH3 HB™ J

(ISRO) & T©HHT 2020 fS9 CMS-01

Aewie Bg iz 7
n. HI9

A fAgel

B8) fAg= I

€ 1m3ue

(D) I IS

'#
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Q19  As per 73" constitutional amendment, Q19 73% Afeoss AU @ wgHg, U3

what is the prescribed minimum age Heg =555 36 fagoas W ue
. to be chosen as a member of g fdat 37

Panchayat? (A) 28FT

A) 28 years

&) / (B) 25W®

(B) 25 years

(C) 23 years i) S
* (D) 21 years (D) 21H'8

Q20 Which of the following schedules of Q20 Ja+ f&fam &S 93t Afeas &

the Constitution of India contains fan waHTt feo AW, Iw w3
details of Union, State and AHTIS FoM € 3T ITHS 7
" Concurrent lists? A 4
(A) Sixth o e
(B)  Seventh L
(C) Fifth (C). MRl
(D) Third (D) S

Q21 Which article of the Indian Q21 393t Afeas e fagz wgec feg

Constitution states that 'the State shall afder 3 fa Iw a§a AronE fan @
not deny to any person equality fonast § missr 3 fesag |
. before the law or the equal protection FI9r 7 393 ¢ fan & ye=A f<g
of the laws within the territory of T Tt AHGIT T Sfemir 39
India? (A) WEsT 17
(A) Article 17 | (B) woRE 14
B) Article 14
_ (C) MWgsT 15
+ (C) Article 15
(D)  Article 20 (D) ™EET 20

S ——————— e )

QP2-BC/31584 . (Page 7)




Q22 Who among the following was Q22 fegt &5 fam § faafedumaarinst

elected as the President of India

unopposed / unanimously?
- (A) Dr. Zakir Hussain

(B) VVGiri

(C) N Sanjeeva Reddy

- (D)  Dr. APJ Abdul Kalam

&% I3 T IJTHSIUIT glfewr famr
HI?

(A) I afag IRS

(B) <. forgt

(€) W Ave IF

(D)

3. 2ULA. WETS a8H

Q23 The time gap between two sessions of (23 FHHAE @ © ARG fegag AH w3T®
the Parliament CANNOT be more 3 g &t I Aaer I
than:
Ay fEgHdts
" (A) one month
(B) T HIS
(B)  two months
(C)  three months © f3&rdts
(D) six months (D) B HIS
Q24 Which of the following wunion Q24 fagt T fax dedt 773 yeH feg
territories has the Lieutenant- @U-I3HUS  (Lieutenant-Governor)
Governor as its administrative head? ferer yrAet wft 32
. (A) Delhi (A &8t
(B) Chandigarh (8) TINF
(C) Lakshadweep (€) TaEESY
~ (D) Dadra and Nagar Haveli (D) TTI W3 &IC I
QP2-BC/31584 (Page 8)



Q25 Which festival in  Punjab Q25 UAg T fagzr f3@g9 HWHII
commemorates  the  renowned domilg 7 &1 3" § AHIfu3z
GuggaPir or ‘Snake God’? 3

(A) Chhapar Mela
. (B) Jor Mela

(A) BUIHT

. . (B) wHIFAT
(C) Bathinda Virasat Mela
(D) Roshni Da mela (c) =Hfé3 feanz As"
(D) IHS T AT

Q26 Which fort is also known as Bathinda Q26 faogr fagr sfdsr € fag =+

fort? Arfenr AT 37

(A) Maharaja Ranjit Singh Fort (A) HITW gEAls iy fagr
.+ (B)  Qila Mubarak () fagryaags

(C)  Phillaur Fort © fedafagr

(D) Bahadurgarh Fort | (D) =Iegey fagr

Q27 When was Mahatma Gandhi Sarbat Q27 urre f&g Horaw" Irdt ASE3 feaA

Vikas Yojna launched in Punjab, GdeT o€ Jg A3t E A, A A 2
which was implemented in state's U3 d3at fee &g =1t 3 At
rural areas? '
(A) 2015
" (A) 2015
(8) 2011
B) 2011
(C) 2018
C) 2018
(D) 2021
D) 2021

;

QP2-BC/31584 (Page9)



Q28v Which of the following diseases is Q28 I& fEfam T fagzT a1 miat Wie

caused by high fluoride concentration T8 U &g €9 BIHT AwEs
in ground drinking water? g6 ger 37
(A) Fluorosis | (A) EBIAA (Fluorosis)
| (B) Botulism (B) Qgﬁfﬂ')-f (Botulism)
(C) Giardia () frmrafanr (Giardia)
(D)  Amoebiasis . (D)  wfEMI AR (Amoebiasis)

Q29 The Second Sikh War (against the (29 gﬂff‘ﬁu wg (que'ﬁr e fegm) mq's

British) began with the revolt of 1848 39 T IRIST
Dewan Mulraj, the governor of e HeaH ¢ feedg &% w3
,in April 1848, Jfewr 7
" (A) Lahore (A) TII
(B) Rawalpindi (8) Jresfist
(C) Multan _ (C) HB3
)' (D) Jalandhar (D) TBUI

Q30 In which year was the University of Q30 fao3 m® ff8 ume waledfAd

Punjab found? , (University of Punjab) T HEUS
(A 1857 9
(A) 1857
B) 1882 NN
€ 1919 (C) 1919
(D) 1946 | (D) 1946

#

QP2-BC/31584 (Page 10)



Q31 Sprinkler irrigation system is also Q31 f@&Fa™ (Sprinkler) fiig® Y&t &

known as . _ FfggrAer Il

(A) Border strip irrigation (A) =939 Afeu figd
(B)  Subsurface irrigation (8) WH-AISH Ao
(C)  Drip irrigation (€ Iy fAgd

(D) Overhead irrigation (D) SIS fifed

Q32 In which method seeds are Q32 fam fedt @9 =iv' § I9w © fix

germinated on top of one or more 7 fer 3 g ugst @ QU YIgs

layers of paper which are ‘placed fégr aer 3, fagt § & 3° &l
~ either in enclosed transparent petri yrgegr dedt fsw A safimr {9
| dishes or boxes and are kept in an Jfemi AET ET, w3 fed ﬁﬁﬁgﬁ'&f

incubator or germinator? 7 Aides g Sfemr e &7

Ay I3 g Usgs fedi
(A) Germination in sand method (Germination in sand method)
| fifd g Jses fedi

(B)  Germination in soil method (Germination in soil method)

() I fegarg fedt (Between
. (C) Between paper method paper method)

(D) a9 Qug fedt (Top paper

(D) Top paper method method)

.

QP2-BC/31584 (Page 11)




Q33 COVIRAP technology launched by (33

IIT Kharagpur will

be wused for

L

L
(A)
(B)
(©)

- (D)

Q34

Disinfecting medical gloves
Diagnosis of covid-19

Only I

Only II

Both I and II

Neither I nor 11

Where was the ‘International Film (34

~ Festival of India 2020’ hosted?

(A)
(B)
©)
- (D)

Q35

Bihar

Tamil Nadu

Goa

QOdisha

Backbone of Punjab’s economy is Q35

(™
(B)
(©)
(D)

tourism
agriculture
trade

industries

T HIFGIYI ©Wg" &g i3t et

COVIRAP 3daiad e 233}

TI3 SISt A

. AFE® TASS JE HEI
I35

n.  dfes-19 2 favs

(A fragg

(8) fAS= 1

€ I1w3ned

(D) & 3II& TN

393 © w3ggned fesH €3
2020 Tt A=t fag g
(A fage
(8) 3ShHEag
(C)
(D) G
UAe & wiga-feere €@ dig
@ I35t 3
(A) AI-AY
(8) "3t =t
(C) =g
(D) euar

QP2-BC/31584

(Page 12)



Q36

SECTION -2

g7l - 2

The value of 25.5 + 0.255 + 2.55+ Q36 25.5+ 0.255 + 2.55 + 0.0255 + 255
0.0255 + 255 is; TS &t 37
(A) 283.56
: (A)  283.56
(B) 283.5855
(B)  283.5855
. (C) 283.305
(C) 283.305
(D) 283.3305
(D)  283.3305
Q37 The selling price of 10 pencils is Q37 10 UsfAst © feadt M3, 15
equal to the cost price of 15 pencils. UafAs T 8913 a3 © 5959 J|
Then, the loss or gain percentage is: 3 TS AT B T YFHI U3t I3
(A)  50% loss (A)  50% TS
(B) 50% gain (B) 50% B3
. (C)  25% loss (C)  25% T&l
(D)  25% gain B)  ERTE
QP2-BC/31584 (Page 13 )



Q38 The given line graph shows the (38

number of patients cured in a hospital

- over the years 2008 to 2014. Study

the

question that follows.

100
80
60
40
20

0

Number of patients

* The increase in the percentage of

cured patients from 2013 to 2014 is

approximately:
(A)  30%
B) 29%
(O 40%
(D) 41%

15

2008 2009 2010 2011 2012 2013 2014

30

40

55

year

line graph and answer

85

50

70

Number of patients

Q39 How many 3-digit numbers can be Q39

. formed with the digits 1, 2, 3, 4 and 5

which are divisible by 5 and in which

the digits are not repeated?

(A)
(B)
| (©)
(D)

24
6
12
8

&3 Jfewr Iy s9e fid TAuss
@9 A® 2008 3 2014 fiT g J2
Ha € farest egAger 31 Jur
ISE T witmls a3 w3 yas ©
€33 feb

100 85

80 70

55 7 N\
5 - 50

40 20
20
0

15

2008 2009 2010 2011 2012 2013 2014

year

2013 3 2014 ©¥I® IF IT TV

HIA & yIta33T K9 s fdar
T Jfem?

(A)  30%

(B) 29%

(C)  40%

(D) 41%

1, 2, 3, 4 W3 5 na & 30T Tt
fadi Afimret § fawrg di3r 7
Aaer J 1 5 &8 I9G 95 fAIs

feg wig TITE & AE?
(A) 24

(B) 6

(C) 12

(D) 8

QP2-BC/31584
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Q40 A sum invested at 4% per annum Q40 f8q fa@m I3t IaH 4% ABST

Q41

simple interest yields an interest of

1,920 after 3 years. What is the sum

invested?

(A) % 18,000
(B) % 12,000
(C) % 16,000
(D) % 19,200

The number of students present in a Q4]
class during a week are shown in the
. given bar graph. Study the bar graph

and answer the question that follows.

No. of Students

Aggs fonrd 3 3 Ars gmie fow
2 gu 39 7 1,920 aHE<t J| fa=nm

St It ga st 32
(A) ¥ 18,000
(8) % 12,000
(C) % 16,000
(D) % 19,200

fia gg3 TIs AW g I
fefenwrad & foeslt § &3 @
o9 Joe &9 Twanfewr famr 3
g9 9 © wimls ad w3 I
€3 yns T @39 fe0|

No. of Students

Present
200 Present
150 . o 200
100 130 ........ : 20 .......... 135130 150
50 , ..... - ........... 100 H
0 . . 58
S @ RO R S S e e
N 9 o o PN 2> > > > 2 >
N «stz&\z /\‘0‘5\ < é\o“b «ozsbob,.@“’b«v\;\"b Q“b@o‘b
Q
What is the difference between the
maximum and minimum number of THag fefenrgdgn € <g 3 <g w3
students present? we 3 ufe faredt feg wizg fdar 32
(A) 70 (A) 70
- B) 80 (B) 80
< 75 (©) 75
(D) 65 (D) 65
QP2-BC/31584 (Page 15)



Q42 A can do a work in 30 days and Bin Q42 A féq aH & 30 fes' fSo w3 B €1

45 days. If they work on it together, aH § 45 fos' 9 a9 Aaer I A
then in how many days will the work 89 fius & fer v § <% Ts, 3
~ get completed? aH f3& fest ffg yar 3 Aeam?
(A) 25 days (A) 25fes
- (B) 45 days (B) 45fTs
(C) 18 days ) 18fes
(D) 90 days ©) 9ofes

Q43 The ratio between the ages of Ram, Q43 g, 9w, ASH W3 fimrH & GHa™

Ramesh, Suresh and Shyam is 2 : 7: TWSUI 2:7:8: 123 © AW
8 : 12. The sum of ages of Ram and yfgs® IH w3 IAE W GHaT T
+ Ramesh two years ago was 50 years. A7 50 A® Hil 9NF T TIIHS

Find the present age (in years) of era (A f€9) T U3 Bar|
Ramesh.

(A) 42
(A) 42

(B) 47
(B) 47

C 49
(©) 49 ¢
(D) 52 (D) 52

e  RRARRRRRRRhRhh———————e—e—e——— ]
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Q44 Find the largest 4 digit number which Q44 €3 TFt 3 31 4 wia' S Afepr yz"
I3 7 41 58 YIS 39 ‘3 I I
(A) 9981
(B) 9978
(C) 9991
(D) 9963

is divisible by 41.
(A) 9981
| (B) 9978
€y 9991
(D) 9963

Q45 Find the overall change in the Q45
quantity, if it is first increased by 40%
and then decreased by 40%.

(A) No change
(B) 16% decrease
(C) 10% increase

(D) 14% decrease

Q46 A man sells one machine for ¥ 960 at (46
a profit of 20% and another for ¥ 480
at a loss of 4%. Find the approximate

overall gain.

(A)  20.1%
(B) 14.2%
©)  15%

(D) 10.8%

H3g S AHOl 3=TE T u3T
®sarg, A for § ufast 40% Tarfenr
Aer & w3 fag 40% werfowr Jer

3

(A) 38 IS &t

(B)  16% WreT

(C) 10% =Tr

(D)  14% wrer

6t wreHt 8 HiHls § 20% B3 3 2

960 &g w3 fea II Wilts § 4%
TE 3 T 480 ST T I WeHS3

NG &9 T U3t I3|
(A)  20.1%

(B) 14.2%

() 15%

(D) 10.8%

ﬁ
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Q47 Following frequency polygon

represents  distance travelled in
Kilometres on Y axis in various

months of a year on X axis by

months.
-~ 1200
n
M 1000
-] 1000 - — .
g 80
g & ;

' 600

& go
i o w0 i
g
2 20
(2

g .

JANUARY ~ FEBRUARY  MARCH APRIL MAY JUNE
(MONTHS) ‘

Which is the average distance (in
kilometres) travelled by the person in

all the months?

(A) 750
(B) 700
(C) 800
(D) 900

Q47

(NUMBER OF KILOMETERS)

foHsfafys adag3 5g3d AS ©
Y I HIlfenwt &g 3w it or3ar
& Y ot 3 fadiiest adt w3 x st
3 HIlfen It earrger 3
140C 3
1200
1000
100¢ -+ gt
800
8CC
600
600
400 308, . 300
200
i JANUARY FEBRUARY MARCH APRL ‘ ”MAV JUNE
(MONTHS)
fena3t enrar A Halfewt &g 3w
i3t wr3ar & WAz Tt (aditest
o) faat 37
(A) 750
() 700
(C) 800
(D) 900

R R O RRARARrRReieeeeeee—  —— ]

QP2-BC/31584
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Q48 Two-third students of a class were Q48 foaq AW © C-f3gd fefewas

present and it was 72. If %of the class Iwg A5 w3 feg #Aftmr 72 A A
are girls, then the total number of 3 e é EENCY Jz, 3 FIM €
girls are: 35 Afemr fdat 37

- (A) 108 (A) 108
B) 18 (B) 18
(C) 36 (). - %8
D) 90 (D) 90

Q49 If the product of% and x is ;—85 , then Q49 T-T% W3 x TIEESH ; 3 IFwe

reciprocal of ‘x’ is: sy &t 37
O | @ :
B 7 B) —
g = b
© = © =
7
® &5 %

Q50 A car covers a distance of 83.7km in Q50 f&a g 2.7 uifenr fST 83.7 km TS

2.7 hours. The average distance 3w g9t I fon B 2 ufew &g
covered by it in 2 hours is: 3 ST WAz geﬁ fadat 37

(A)  55km (A)  55km

(B) 45km (B) 45 km

(C) 62km (C) 62km

(D) 31km ' (D)  31km

QP2-BC/31584 (Page 19)




Q51 The given bar graph represents the Q51 &3 famr g9 TS AS 2004-2010
egs 36 Judhwt X, Y w3 z @

" exports of three companies X, Y and

Z during the years 2004-2010. Study
the graph carefully and answer the

question that follows.

100
80

40
20

60 -

Exports of three
companies (in X Crores)

2004 2005 2006 2007 2008 2009 2010

* In which of the following years were

the exports made by company 'Z'
exactly equal to the average exports

made by it over the given years?

" (A) 2004
(B) 2005
(C) 2006
(D) 2007

fsgws § Taw@e & IS9e ©
witmls a3 w3 J5° €3 yms ©
€33 febl

100

80

40

20

2004 2005 2006 2007 2008 2009 2010

Jot g & fao3 A Just 'z
g a3 famr fegurs, &3 I

Ast &g fere owar i3 I wiAs
fogws @ sgag &7

(A) 2004

(B) 2005

(C) 2006

(D) 2007

S e e S P e B A S T S o S AT et e

QP2-BC/31584
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Q52 The mean of 6 observations was 192. Q52 6 f&dlysr T HoH's 192 il

One of the observations was foaysr &9 fa&aq ?:'g' I3t 55 126
incorrectly recorded as 162 instead of o gafe 162 fgagzs i3 famr
126. What is the correct mean of the fadhyst T At HoW's ot 37
observations?
(A) 173
(A 173
(B) 156
(B) 156
C 186
(C) 186 ©
(D) 168 (D) 168

Q53 Two numbers are 25% and 40% more Q53 ¥ Hftmrer AR Afemr T 25% W3

. than a third number. What is the ratio 40% <O I5| fegst & wAftmred T
of these two numbers? wEUI ot 37
(A) 25:28 | (A) 25:28

| B) 28:25 (B) 28:25
€ 5:8 | (C) 5:8

(D) 8:5 (D) 8:5

e

QP2-BC/31584 (Page21)
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Q54 A man took a loan from a bank at the Q54

Q55

rate of 15% p.a. simple interest. After

" 2 years he had to pay ¥ 3000 interest

only for the period. The principal

amount borrowed by him was:

(A) 15000
(B) % 10000
(C) 30000
(D) 45000

Amit can do a work in 20 days and

_ Barun can do the work in 30 days. If

they work on it together for 6 days,
then the fraction of the work that is
left is:

A) 12
B) 1/4
€ 153
D) 1/6

far wedt & 15% AT AOgE
fenra € w9 '3 g9 3 @ua fanr
2 A8t "mie @RS frge fime &8
¥ 3000 fows € wetfeslt It ud
Al €R ©nwrgr €ug fowr famr
HBUS U3 I3

(A) % 15000
(8) % 10000
(C) % 30000
(D) % 45000

wiHg féa I § 20 fest R a9
Aaer 3 w3 596 @R | & 30 fea
fég a9 maer J1 7 €9 6 fea' w8
ferdn g B A aTT T3, 3T T

T e S e ey =P
e e —

QP2-BC/31584
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SECTION -3

gTdr-3

Q56 Arrange the following words in a Q56 J&* f&3 e mwuet § wIayIs

meaningful sequence and choose the

correct order.

whnm AW N

(A)
(B)
(©)
- (D)

Q57  Select the number that can replace the (57

question mark (?) in the following

series.

17, 23, 30, 38, 7, 57

- (A)
(B)
(©)
(D)

Q58  Select the number that can replace the (58

question mark (?) in the following

series.

63, 124, 215,7,511

(A)
(B)
- (©
(D)

Letter
Sentence
Word
Phrases
Paragraph
5,3,2,1,4
4,5,2,1,3
5,2,4,3,1
4,2,5,3,1

46

289
300
342
399

-

Iois g feenfas =3 w3 A

qH €t I I3|

1 g

2 T

3. HET

4 TIH

5 Ugr

(A) 53,214
(B) 4,521,3
(C) 5,24,31
(D) 4,2,5,3,1

€n Aftmr & 9T a3, 7 J& &3
st 9 yms fdg (7) € & 3 wr
Aol I

17, 23, 30, 38, 2, 57

(A)
(B)
(€)
(D)

46
47
48
49

€n Aftpr & ¥F a9, 7 I &3
st o yms fidg (o) S & 3 wr
At 31

63, 124, 215, ? , 511

(A)
(B)
(C)
(D)

289
300
342
399

QP2-BC/31584
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Q59 Ritwij starts walking towards the west Q59 fg3fem UeH <5 U@ #g ad9¢ 3

and walks 11 m. Now, he turns to his
left and walks 17 m and then he again
turns left and walks 19 m. He now
again turns left and walks 10 m. He
takes a last left turn and walks 8 m.
How far and in which dire‘ction is he
standing with respect to his initial

position?

(A) North, 8m

(B)  South, 7m
. (C) East, 8m

(D) West, 9m

Q60 Three different positions of the same Q60

. dice are shown below. Which symbol

w3 11 m 98T 31 TT €T wu? u
HIT I w3 17 m T&e I w3 fag
HS HF 2 19 m I8 A TT €9
TEHT H8 HIT I W3 10 m 98T I
GowSdr Az e I w3 8 m
g@er 31 @ Rt ggnrst Afe @
Rguz

(A) €39, 8m
(B) THE, 7m

() USd, 8m

(D) U&H, 9m

Jst foa Gt yR e 55 -y
AfaS feursw I I51 '@ §

is on the face opposite the face TINgE T8 254 © fedul gua €3
showing '@'? faoz fds 37
A) # A #
B) 3§ B $
© % © %
0y D) &
QP2-BC/31584 ( Page 24)



Q61 In this question, a statement has been Q61 fem yns <o, féq aus 3 game @
given followed by two conclusions fAe Aftmr | w3 Afir | 3
numbered I and II. Assuming that all 5| 99 fSg €31 At Aeadt §

_ information in the statement is true, Ho Hae J8, o fifow e fedfonr
analyse the two conclusions together femdne a3 w3 fssufos a9 fa
and determine whether any of them e T faow fifer ams e st
logically and definitely follow(s) & FEESt € 39 HaE w3
from the information given in the forfes 39 3 use 9w I

R g5 : fimmAz R dar =93

HIZeUIT IfHar fasger 31
Statement : Money plays a very e
: : .. A2
important role in politics.
l. A3 w9 =Tut, faAse s
Conclusions:
Ial
i All  rich businessmen are I IR & IS weR o
politicians. frimrAsT s &t I
II. ~ No poor man is a politician. (A) TS fier | yse gge o
(A)  Only I follows (B) d=s fider Il yse Iaer 3
(B)  Only II follows © =2 i1 w3 I usE FI°
(C) BothIand II follows o .
(D)  Neither I nor II foll il o
either 1 nor 1l follows
) 3T TS

Q62 Find the missing term in the Q62 It &3 wyg B o sU3 UT

\ following letter series: U3 99:

ZWT, QNK, , YVS, PMJ ZWT, QNK, , YVS, PMJ
(A) HEB (A) HEB
(B) GEA (B) GEA
(C) HER (C) HER
(D) GDB (D) GDB
QP2-BC/31584 (Page25)



Q63. Identify the pattern from the options Q63 feamwur 3 @n fg3g & us= a3

that completes the given figure. frag fa 2 R degs § ygr s
31
AO e -
Oe A AOCDe
& = O e A
| AO L =
= | AO

s

(A) k (
(A)

| <
O
4l <
ol

(B) o
A O AO
L &
©) - o
Q- ¥
@ A | oA
D) o

QP2-BC/31584  (Page26)



Q64 Identify the figure from the options Q64 feawut I €n 639 & us= a9
~ that completes the given pattern? fraa fa €3 I degs § Yo ager
a7

g s LG o Sa— "

PN \ / - o X L .
F h ST ° o i ) A\ . P

o o P "y ; S ‘g u‘:u. ,,
# A
- A » P N,

! X W

2‘ K. >< ! ? g Py

y g o
a -~ i /

y? A l’¢
[ %, i on t
J " L P y o P{ i %/g
b 5 " g rd
{ // % / e r A
# i W, §
;I M, ! / ‘*}s” ‘%
{ u | 4 AN \
( ) P 4
{ \
@ - N
A 7
% P
b
1 i - /,;:
{ Pl
~
{4 e P i
# i
f ;i
L F i
i
i

(B)

®) %

©)

(€)

(D)

QP2-BC/31584 ( Page 27)



Q65 Identify the figure from the options Q65 feasut 3 @n fg39 © us= a3

that completes the given pattern? faow fa &3 32 dess 'é‘ ygr 97
a7

Fd

: l ) (!‘ F g 4
i Yk g
S, * S

v -y —” ]
g - v
5 g “‘*A«?«Wx : J”/f Nm&?&
;{: B o w-‘?}
b " ﬂ:f‘/ oy i ;e’/}
. o vl A
B) (B)

©) | ©)

' “’x R (D)

(D)

QP2-BC/31584 ( Page 28)



Q66" In this question, three statements have Q66 fer yns fég, f35 aaat 3 ame 2
been given followed by two fife Hmr | w2 Hftmr o 53 IR
conclusions numbered 1 and II. S| S s Rk i §

Ao Hae J8, °F fAfew e fedfen

femdme a3 w3 fogufas a< fa

Assuming that all information: in the
statements are true, analyse the two

conclusions together and determine

whether any of them logically and o &9 fag fifer aust g &5t
definitely ~ follow(s) from the IJE AEadl & IIF HOIZ w3
information given in the statements. forfoz 39 3 UsE a3 I
Statement I : Some roads are rails. 96 | : g% AFS, I8 IS|
Statement II : Some rails are land. IES | : I¥ IV ;TS IS

Statement III : Some land are sea. 6 1l IF 7l AiTT Jo|

fAer | : It AFaT, MiTd I51
Conclusion I : All road are sea.

fAer II: 99 TileT, AgaT I5|
. Conclusion II: Some land are road.
(A) s fier | Uge aae d
(A) Only I follows
(8) 3dAe fieT | yse Iaer 3

(B)  Only II follows
(c) T2 A2 1 w3 I yssE age

(C) BothIand II follows IS5
(D)  Neither I nor II follows (D) & 3 fAer | &t I UsE
Fger I

§

QP2-BC/31584 (Page 29)




Q67 Find the

Q68

Q69°

following letter series:

OPQ, RST, UVW, XYZ,

(A) OPQ
(B) ABC
. (C) ZYX
(D) CBA

If P+ Q means P is the sister of Q;

. P - Q means P is the father of Q and

P x Q means P is the brother of Q,
which of the following means that

Z is the son of A?

(A) A-ZxM+N

" (B) M-Z+AxN

(C) A+Z-MxN
D) NxZ-A+M

Pointing to a lady, Ram said, "She is (69

the wife of the son of the only son of
my mother". How is the lady related

to Ram?

(A) Daughter

(B)  Daughter-in-law
(C) Sister

(D) Mother

missing term in the Q67

Jat &3t wiyg B3 g U3 UT
U3 I3

OPQ, RST, UVW, XYZ,
(A) OPQ

(B) ABC

(C) zZYX

(D) CBA

ASI P+ QT WIH, P, QT 3T I

P-QE© wJdH, P, Q © fusr d w3
PxQe© WJH P, Q € 33 I, I
It f&fan f&F farer wgg 3 19 Z,
AT U339 JI

(A) A-ZxM+N

(B) M-Z+AxN

(C) A+Z-MxN

(D) NxZ-A+M

ffaHfor <o fergraoe R IH S
fagr, "@g ASt v @ fead3 Usa ©
U39 & y3at 31" Higs™ e IH &8
at farsr 32

(A) Tt
(B) &9
(c) 3=
(D) W

QP2-BC/31584
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Q70 Nikita ranked 84th from the top and Q70 faat3™ firdg T 843 W3 315 fiug 3

Q71

~ Neil ranked 2I1st from the top. 20

students were ranked below Nikita

and above Namrata, who ranked
29th from the bottom. Find the total

number of students.

A) 132
C®) 131
©) 133
D) 130

Which of the following answer figure

completes the series of the question

figure?
OAAS A%
—|5] = D] |=|©
SJYAN

w |~
AN LS

N
A__,

o 7O
A|—

o (OO0

Q71

21¥ AEs €3 I 20 fefewras
fadizr 3 I w3 aHIs” 3 Gus
s, Afa 35t 3 292 Ag's €3 ITh
fefenwrgevt & g8 Aftmr uzr a3)
(A) 132
(B)
(©)

(D)

131
133

130

yrs wigEt € 83 § ydt F9et 37

olalalela]e
B ERIEE

7Y

or | D

(A)

Q> |6

(B)

(C)

OI>| | |>

(D)

QP2-BC/31584

(Page31)



Q72 Find out the missing number in the Q72 It &3 SF 9 JUI Aftwr Uz~

given series.

13, 19.3, 39,915, 7

(A)
(B)
(©)
- (D)

Q73 Select the combination of letters that ()73

when

blanks of the given letter series will

complete the series.

_nm_om_nmn_m_nm

(A)
(B)
+(©)
(D)

Q74 Select the letter-cluster that can Q74
replace the question mark (?) in the

following series.

CBYX, EDWV, GFUT, ?

(A)
(B)
©)
(D)

136.5
195

243.7
292.5

sequentially placed

nomoim
onmon
oonnim

onooo

HIRS
[HSR
[HRS
HISR

3|

13, 19.5, 39, 97.5, ?

(A) 1365

(B) 195

(C) 2437

(D) 2925

wiyg' T @9 AN g A fa &3t st

g ®sdt e It met o
IIS=TT 3T 3 B § YIT A3

_nm_om_nmn_m_nm

(A)
(B)
(€)
(D)

nomom

onmon

oonnm

onooo

€9 wyg-AHT ge 7 I &St It
&g yms fids () @ = S Al

CBYX, EDWYV, GFUT, ?

(A)
(B)
©)
(D)

HIRS

IHSR

IHRS

HISR

L ————————————————— .

QP2-BC/31584
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Q75 The given Venn diagram represents Q75 f&3r Jfewr 5  fg39(Venn

the students who study Physics, diagram)3f3a  fefams  (Physics),
gafesa fefami™®s (Chemistry), JIfe3
(Maths) W3 a'r'ﬁ-rgaa fefamrs
(Computer ~ Science) UJS TV

Chemistry, Maths and Computer

~ Science. Identify the region which

represents students who study both fefenwrgsin & egFGe 31 @R
Physics and Maths but NOT 439 & ueT a9 fAow fa €%
Computer Science and Chemistry. fefenrgs § sarger 3 fAgd fa

3fag fefmis w3 feg o2 uge

grrfirea fefamirs ot ugRl

c Chemistry
Physics
- //
\

e
Computer Chemistry
Science
(A) ELM,I G
B) HKMI A ELMI
| (C) I M K | (B) H! K! M; I
| o © LMK

SECTION -4/ 371 - 4

Q76 Read the following sentence an'd identify the part that has an error.
" The children / have gone / to a hill station / with its parents.
(A) The children
(B) have gone
(C) to ahill station

" (D) with its parents
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Q77 Select the most appropriate SYNONYM of the given word. AVARICE

(A)
(®)
(©)
(D)

greed
capacity
generosity

wealth

Q78 Parts of a sentence are given below in jumbled order. These parts have been labelled

~asP,Q,R, and S. Arrange the parts in the right order to form a meaningful sentence.

toys in the shop (P) / the little boy (Q) / to see so many (R ) / was very happy (S)

(A)
(B)
(®)
(D)

QSRP
QSPR
RPQS
PSRQ

Q79 “OH3N’ HeT T Al wIkH MgeT JI

™
(B)
(©)
(D)

Q80 Select the most appropriate ANTONYM of the given word. TWISTED

(A)
(B)
©
(D)

Advance
Earned
Advancement

Advent

straight
coiled
entwined

distorted

QP2-BC/31584
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Read the following passage carefully and answer the given questions from Q 81 to

Q85

The means of payment that exists in purely electronic form is called ‘digital money’.
Electronic money or digital money is not tangible and is accounted for and the transactions
are performed online using computers. Digital money can be exchanged using credit cards,
the internet and smart phones. It can also be turned into physical money like in the cases of

an ATM.

People being what they are get practical about creating their own currency as long as
it is honoured. In Africa, sea shells were used until the 19th century as money. But gold -

practically useless but known for its short supply and lasting quality - has been the most

popular non-currency form of money and is standard for central banks.

Now, in the age of the internet, and digital technologies, money is undergoing an
exciting makeover with talk of virtual currencies, mobile wallets and software applications
that pretty much do what gold has been doing for centuries and currency notes have been
doing for a while. Technologies such as near-field communications are being used to make
the mobile phone an instrument of payment without the customer having to sign a credit

card voucher, thus making it more secure.

In general, software applications are being developed to substitute for money in
various ways. Some companies like Starbucks allow ‘digital tipping’ of its baristas through
a mobile application. Pre-paid cash cards are being used to swipe instruments where
customers do not need credit cards or even bank accounts. The Next Gen ATM machines

will recognise your face through facial biometric technologies.

Bit coin, the most popular virtual currency started circulating in 2009. Its current

s

market value has been estimated at around 8 billion, to 80,000 transactions occurring daily,

QP2-BC/31584 (Page 35)



according to reputed accounting firms. However, Washington’s Internal Revenue Service
ruled that bitcoin are not currency but more likely property - and thus subject to capital

gains tax.

Meanwhile, other virtual currencies are taking off - and influencing politics. In
Iceland, which saw its banking system more or less wiped off, during the 2008 global
financial crisis, there emerged the euro coin, a new currency now estimated to be worth
11.37. This currency is aimed at fighting capital controls imposed by the Iceland

government.

Crypto currencies are a very important milestone in this fight for liberty from
political control. They bring the hope of a new era of free currencies immune to the
meddling of politicians. In addition, money is undergoing an exciting makeover through
innovations  galore. ~ Telecom companies the world over; for instance,
with support from their central banks are offering customers 'mobile money' as a service.
Another innovation that is much talked about is the mobile wallet and companies are
helping their customers carry the equivalent of cash in their handsets

much like one carries travellers’ cheques.

A}

Thus, more and more practical solutions are beings spawned across the planet to
focus not so much on money's 'store of value' but as a medium of

exchange.

Q81, Which currency is used as a weapon to fight capital controls?
(A) Euro coin
(B) Bitcoin
(C) Doge coin

. (D) Litecoin
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Q82 What was used by people in Africa as money?

(A)
(B)
©)
(D)

Metal coins
Sea shells

Marble balls

Currency notes

Q83 Choose the correct synonym of the word ‘Meddling’.

(A)
- (B)
©)
(D)

Heedless
Interfere
Isolate

Inattentive

Q84. Which technology uses phones as instruments of payment?

(A)
(B)
©)
L (D)

Q85 Which of the following has traditionally been the most popular non-currency form

Starbucks
Near-field communications
Internal revenue service

Next gen machines

of money?
- (A)  Gold
(B)  Vouchers
(C) Mobile wallets
(D) Cash cards

A3

QP2-BC/31584
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Q86 ‘€9 = fid ufgses Uy aa% I&, Bul fed 7=T el
| (A) A
(B) WH®T
(C) wF

(D) CINES

Q87 fA 35 R 35 A wE § Y9 3|

(A) TgT
. (B) fimrg
C) @
(D) =

Q88 I3 fafumi ST Ho mee T2

(A) uar
(B)
(C) uar
- (D) W

Q89 ‘Imaginary’ WET T AJl YAl wgewT I
(A) HIBY
. (B) faguE
(C) =sfuz
(D) fdg3Ha

QP2-BC/31584
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Q90 SFM T 2 U@Er HI=d T WIH AUHE 3|
. (A) BT IIE
(B) oaA® SIaT
(C) IHE II&T

- (D) Wy 3TE

Je 3 TeB S s s uF w3 Y91 Iy 95 Fa € €33 e

. fifg ge<t 9 939 9373 © HIITYSS JU T5| AHT © Wit Jg Aeer
fire 33 Hies € IS I9EMT I6| ite T AaH yIT fefsoma as feg Jfenr ifewt
Aer J| AT HEYH @ WS feu Yfagsa gdnt 3 87 @ yge' § Aae < e Tod e e
%?%ﬂﬁiﬂ*?@?ﬁﬂf@ﬁﬁﬂ??ﬂ?ﬁ?&‘?w@ﬁﬁmgmw
@m%m?méa@éwuﬁu&@, g<r, U, "aIA, 96 3 i

wrfe § Sfar € gu feg yre wds =37

Hiwntrﬁmgufeamﬁeaa'anrﬁmgﬁwwawélﬁm
BE H&H wed3s feg A T der g9t 3 89 I8 AT Adfaa gu feg miA 8 yTs It
3 37 QU fifg @ gu e @3s gt 3 few o far & A € Mf9a We §
e T A9 3 yfea 3 IIAUS Wi fife? Gt I gs| fifgt enwrar yare gemr

Feae, veg 3 fered O Slo €3 SRdhw der I5|
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Q91 fig T AaH a& W3 fa< Ifemr 2

@)
B)
©

(D)

WBfag gasm € 39 &% 1982 feg
yJ< fefsona aw feg
Ugg Har feg

Ueagd At @ wiz feg

Q92 ferdd e fAgdy I

(A)
(B)
(©)

(D)

fiet €t yfaast w3 s
39 T AGH
e w3 v

g3 <t fAgwe

Q93 FHfIE HE & H'eE T IIA War Hitmp A 3 2

(A)
(B)
(©)

(D)

g
o< o3
Afswrarg

U6 3 HIA

QP2-BC/31584
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Q94 fie FE< fan € HI3TYIS U IS ?
(A) AHI T
(B) wafaa gasmi
(C) BaTasafaazzT
(D) yfag3sa IIA e
Q95. figterat aaw 3 2
(A) fefsgra A9 & »RIeE II8
(B) B §ITCE
(C) B Fles T weEreE a3&"
- (D) Buda3 fed IF &t

SECTION -5 I - 5
Q9% Which of the following is the Q96 Iz fEfamt R faoa ffa gEmaa T
function of a browser? ‘ g I?
. (A)  Compile HTML Code (A) HTML 93 § SUEls I3&"
(B) Interpret HTML Code (B) HTML 33 § féeaie sga

(C) HTML 33 & J-aues aaa"
(D) HTML 33 & F-AUES I35"

(C)  Pre compile HTML Code

(D) De-compile HTML Code

Q97" In MS Word 2019, isusedto Q97 MS Word 2019 39, o €33
find the end of a document. THI=H T w3 S3¢ S8 a3 At
I

(A) Alt+End
(A) Alt+End
(B) Ctrl + End i e

" (C)  Ctrl + Shift + End (C)  Ctrl + Shift + End

(D) Ctrl + Alt + End (D) Ctrl + Alt + End

QP2-BC/31584 (Page 41)
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Q98 To which generations of computer Q98

does ENIAC belong to?
* (A) Second

(B)  Third

(C) First

(D) Fourth

Q99 Which of the

following is

workbook view in MS Excel 2019?

L.

o L
(A)
(B)
(©)

| (D)

Q100 Which of the following pair of device (100

Normal
Page Layout
Only I

Only II
Both I and II

Neither I nor 11

- type is correct?

o L

IVR - Speech Recognition

a Q99

ENIAC dfugeg & faodt Widt &5

Aefaz 37
(A) Tt
(B) 3wt
(C) ufgst
(D) o=t

MS Excel 2019 &g, JaF fefawr ST

fagz f6a Tgaga fe@ 7
. EIHS

. Ud 3G

(A) fAgz

(B) fAagz=1

(C) 1w3ne

(D) &3 1a T

Jdt fefawr &9 fseferyaa ©
fagz Az 7t 2

IVR - mii9 ug's faefen

Device
. ATM - Electronic Card S i
(A) OnlylI (A) g
(B) OnlyII B) frI=1
. (C) BothIandII (€) 1m3neR
(D)  Neither I nor II (D) & 3IFIEdI
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Read the following instructions carefully:

38 gav Jefest § fioris 578 u3:

1. Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can
not be changed.

2. The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and sa.me Test
Booklet No. & Test Booklet Series in attendance sheet as
thesé are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever
it is demanded by the Invigilator.

5. Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or

Center Superintendent.

6. The «candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over
OMR Answer Sheet to the Invigilator.

7. Use of Pencil/Electronic/Manual Calculator is prohibited.

8. The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

10.The Candidates are required to submit the Test
Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

1. 339 yrs w8 €3 I 99 feamy &S, @leeg & ©hmrg €39
e 3 38 g8 unfée I &8 aes ffq frasu § §3s o s
3" J| i T3 fdp3 i3 I €39 § sefenr &df 7 Fae|

2. oiees § frg e TeQe o 3 fx @99 Hie yat & 32
Sirees § €39 Hie '3 fous-Gug &t & foms o sarEE
gdter] Oiees § €xhiwg €39 Hic e fogues A 3
o IT a3 & wuer 35 &89 &di fode grdier|

Hade A foue J=at 7 2re gade 3 80 3T Is|

4. fo3ms eagr Hat FE 3 ifeee § vy e a9s fedrgE
I

5. fsags # dwg ® puIac 3 ferm wifgmr 32 fas, gt &
SrieTg WU FeAffimr ST adf 83 AaeT/Aa|

6. SiteeT § wuF I Fie 3 TR &3 fast w3 €39 Hie
38t fourars & A faot Yifimr o5 3 wras e & wiamr &t
3

7. dofrs/fedadfsa/ Nons asaded & 233 596 & Ha'dl I

8. ffimr g8 &5 GIn' @ wrede © Heg fe Sfieea dae ufer
II3T 993 © AS fouH w3 fefswit wills J=dt| wefos Sar e
A HHfEw & 393t 933 @ fomt w3 fefsmt wigH'g fouerfanr
A=

9. Yfimr ¥3H IT I e, SiieTT wuF &g €39 Hie,
HeT €239 ©f anft fades § TuR 59T/t e <8
Srieeg & Gxhivrg andt fise 3 gmie It Siees funr o8
&3 "I J|

10. 1fifimr 3 swie Sriteeat § wudt 2o Hade fosaes 3w My
FoTgE I}

11. fugdt Yfemr fige @ s I 3 24 ufentt @ wiea-vieg 393t
Jges §3 sfad gerfont BE yrs U3 Gussa =T

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.
& Agg A s e gerfest feg a8 @ wizg urfewr Fer 3 3 wiesw I Tt gefes e 3L




